Order of Operators - Questions
Key Stage 2: 2004 Paper A
1.
[image: ]
Key Stage 2: 2007 Paper B
1.
[image: ]
Key Stage 2: 2008 Paper B
1.
[image: ]


Key Stage 2: 2012 Paper B
1.
[image: ]
Key Stage 2: 2013 Paper B
1.
[image: ]










Key Stage 2: 2014 Paper A
1.
[image: ]
Key Stage 2: 2014 Paper B
1.
[image: ]





Key Stage 2: 2014 Paper B
2.
[image: ]












Key Stage 2: Paper 1 Arithmetic - Sample
1.
[image: ]
Key Stage 2: 2016 Paper 1 Arithmetic - Sample
1.
[image: ]






Key Stage 2: 2016 Paper 1 Arithmetic
1.
[image: ]
Key Stage 2: 2017 Paper 1 Arithmetic
1.
[image: ]






Key Stage 2: 2018 Paper 1 Arithmetic
1.
[image: ]
Key Stage 2: 2019 Paper 1 Arithmetic
1.
[bookmark: _GoBack][image: ]

image7.png
@ ' these calculations, each missing signis a + ora —

Write the missing signs in the circles.
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Amy thought of a number.
She added 0.5 to her number and then doubled the resuit.
Then she subtracted 0.5 and doubled the new result.

Her final answer was 61

What number did Amy start with?
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120-15x5=

1 mark
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20-4x2=

1 mark
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60-42+6=
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50+ (36 + 6) =
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9°-36:9=
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60 + (30 - 24) =
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Calculate 900 + (45 X 4)
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@D cociato 12x(13+14)x15
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@D How much less than 1000is 9.7 x 9.8 x 9.9
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@B iite the missing number to make this calculation corret.
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18 + ) x 32 = 7776
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@& cocuiate (47.9 + 71.8) + (6.65 x 2)
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Write the missing numbers to make these calculations correct.
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200 x — 200 = 200

(100 - ) x 100 = 100





